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1 Introduction

While there is a large literature on the differences in labor supply across coun-
tries,” work on cross-country differences in consumption expenditures is limited.
To evaluate the effect of variations in policies on allocation and welfare, it is im-
portant to study consumption and labor-supply decisions together in a model that
is consistent with data on both types of decision.

In this paper, we study cross-country differences in the life-cycle profiles of
both labor supply and consumption expenditures. We examine the allocations of
consumption expenditures and time by age across countries not only for market
activities but also for home activities. Home production is a critical factor in propa-
gating the effect of policies on labor supply and is also an important component in
welfare calculation.” We focus on understanding the discrepancy in the life-cycle
profiles between the United States and France because the two countries, while
at a similar stage of economic development, differ dramatically in their tax and
social-benefit systems.

Different tax and transfer programs could create different incentives for house-
holds when they allocate their time and expenditures between market and home
activities over their life cycle. We observe large differences in such programs be-
tween the United States and France. First, the consumption tax rate is 24 percent in
France but only 7.5 percent in the United States. Second, the French social security
system features a substantially higher tax rate accompanied by a more generous
benefit scheme. Lastly, the French income tax is more progressive than that of the
United States.

The age profiles of time use and expenditure in the United States and France
also differ greatly. Using time-use and consumer-expenditure surveys, we doc-
ument three important differences. First, the French, at every age, work less in
the market but spend more time in home production than Americans. Second,
the French have lower expenditure-to-income ratios for spending on both market
goods and home inputs (goods used in producing for home consumption), but the
difference is larger for market goods than for home inputs. Third, over the life cy-
cle, both Americans and the French shift their allocations of time and expenditures

from market to home, but the shift is much faster and stronger in France.

'See, for example, Prescott (2004), Ohanian et al. (2008), Rogerson (2008), Olovsson (2009),
McDaniel (2011a), Ngai and Pissarides (2011), Erosa et al. (2012), Ragan (2013), Chakraborty et al.
(2015), Duernecker and Herrendorf (2018), Laun and Wallenius (2016), Bick and Fuchs-Schiindeln
(2018).

ISee, for example, Benhabib et al. (1991), Rupert et al. (1995), and Rogerson and Wallenius
(2016) for the effects of home production on market hours. See, for example, Dotsey et al. (2015)
and Boerma and Karabarbounis (2020) for the importance of home production in assessing the
welfare implications of polices.



Higher taxes and a larger social security system in France favor home produc-
tion over market production and may account for the differences in allocations of
expenditure and time observed in the data. We develop a model to formally evalu-
ate the quantitative effects of these policies on allocations. Our model is a life-cycle
model with home production, endogenous retirement decisions, and uninsurable
idiosyncratic productivity shocks. In the model, households derive utility from
leisure and a consumption good composited from a market good and a home
good. The home good is produced using households” time and home inputs. The
model incorporates key realistic features of the tax and transfer programs, includ-
ing the consumption tax, the income tax, and the social security system.

We calibrate the model to the United States and show that it matches well the
data on US expenditure and time allocations by age. In our model, besides the
differences in tax and transfer programs, France differs from the United States in
households’ age-efficiency profile for market production and in their productivity
in producing home goods. In particular, France has a lower age-efficiency profile,
higher home-production total factor productivity (TFP), and lower home labor-
augmenting productivity. With these differences in government programs and
productivity, the model matches well the data on French allocations of expenditure
and hours by age.

The simulated French economy can generate the three documented differences
in allocations from the United States. First, lower efficiency units and higher home-
production TFP in France raise the productivity of home goods relative to market
goods and thus increase home hours and reduce market hours. Lower French
labor-augmenting technology at home also increases home hours and reduces mar-
ket hours since more hours are needed to produce the same amount of goods at
home. Both of these mechanisms generate the pattern that the French work less in
the market but more at home than Americans. Second, higher taxes, a lower age-
efficiency profile, and higher home-production TFP all favor home consumption
over market consumption and shift expenditures from market to home. Third, the
age-efficiency profile is much lower in old age in France, which leads to a stronger
shift of hours and expenditures from market to home over the life cycle.

To decompose the effects of policy and productivity, we replace French poli-
cies and productivity with US values in the simulated French economy. Our first
finding is that all the examined policies combined are more important than all
productivity variables combined in accounting for the cross-country difference in
expenditure on market goods and are equally important in accounting for the
cross-country difference in expenditure on home inputs. Among the policies con-
sidered, the consumption tax and social security system are quantitatively more

important than the income tax for determining allocation of expenditures. Home
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labor-augmenting technology is quantitatively more important than other produc-
tivity variables in accounting for the cross-country differences in expenditures on
home inputs. Second, we find that productivity differences are quantitatively more
important than policy differences in accounting for the differences in the allocation
of time by age. In particular, the age-efficiency profile and home-production TFP
are more important in accounting for the life-cycle differences in market hours,
while home labor-augmenting technology is more important in accounting for the
life-cycle differences in home-production hours.

To evaluate the welfare implications of each policy, we change each policy in
France while holding government spending constant, which we achieve by im-
posing an additional proportional income tax. We find that adopting the US con-
sumption tax leads to a decline in welfare, with a larger decline for households
with higher initial productivity draws. Adopting the US social security system
benetfits all French households. The welfare gain is especially large for households
with higher productivity because they dislike a larger social security system. The
average welfare change from adopting the US income tax, compared to the other
policy changes, is small. The welfare gain from adopting the US social security
system outweighs the welfare cost from adopting the US consumption tax; thus,
adopting all three US policies increases welfare for French households.

This paper is related to the literature studying life-cycle consumption profiles
in the United States. Carroll (1997) and Gourinchas and Parker (2002) show that
precautionary savings, generated by borrowing constraints and idiosyncratic in-
come shocks, can explain the hump-shaped life-cycle consumption profile. Bullard
and Feigenbaum (2007) find that including leisure in the utility function helps
explain the decline in consumption late in life. A more recent literature studies
the subcomponents of consumption over the life cycle. Fernandez-Villaverde and
Krueger (2007) document hump-shaped profiles for both durable and nondurable
consumption and propose to explain the hump with a model in which durables
serve as collateral. Yang (2009) develops a model with illiquid housing and with
collateral constraints to study the life-cycle patterns of housing and nonhousing
consumption. Aguiar and Hurst (2013) show that the hump shape in market con-
sumption is related to the substitutability of market and home-produced goods.
Dotsey et al. (2014) show that a life-cycle model with home production explains
well the life-cycle patterns of market and home consumption and time allocation.
Our contribution to this literature is to compare consumption-expenditure profiles
across countries and study policy impacts on the profiles of expenditure on both
market goods and home inputs to account for cross-country differences.

This paper is also related to the literature that quantifies the effects of govern-
ment policies on labor supply across countries. Prescott (2004) and Ohanian et al.
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(2008) use a one-sector model to study the roles of taxes in accounting for cross-
country differences in labor supply. Rogerson (2008), Olovsson (2009), McDaniel
(2011a), and Duernecker and Herrendorf (2018) highlight the importance of home
production in propagating the effect of taxes on labor supply. Ngai and Pissarides
(2011) and Ragan (2013) find that subsidies for family care are important in ac-
counting for the differences in market hours between the United States and the
Nordic countries. Chakraborty et al. (2015) and Bick and Fuchs-Schiindeln (2018)
study the role of progressive and nonlinear labor income taxes in accounting for
cross-country differences in market hours by gender. None of these papers analyze
labor supply by age. Two recent papers, Erosa et al. (2012) and Laun and Walle-
nius (2016), study cross-country differences in market hours late in life and find
that social insurance programs are important drivers of the low labor supply of old
households in European countries relative to the United States. In contrast to these
two papers, we study cross-country differences in not only the allocation of time
but more importantly the allocation of expenditures. Our study also distinguishes
home consumption from market consumption and covers the whole adult life cy-
cle. The rich structure of the model enables us to study the welfare implications of
tax and transfer programs.

The rest of the paper is organized as follows. Section 2 discusses the expendi-
ture and time allocations by age. Section 3 first presents a static model to demon-
strate the importance of the elasticity of substitutions and then presents the full-
blown life-cycle model. Section 4 calibrates the model to the US economy. Section
5 applies the model to the French economy and decomposes the total differences
in the expenditure and time allocations between the United States and France into
contributions from policies and productivity. Section 6 studies the welfare impli-
cations of each policy. Section 7 concludes.

2 Expenditure and Time Allocations by Age

2.1 Data Construction

We use the Multinational Time Use Study (MTUS) to construct data for time allo-
cations in the United States and France, the Consumer Expenditure Survey (CEX)
to construct data for expenditures in the United States, and the French Household
Budget Survey (HBS) to construct data for expenditures in France. We restrict the
samples to reference persons of at least twenty-four years of age, as most individu-
als complete their education by then. The data throughout this paper are averages

from 2010 to 2012 whenever possible.” The rest of this section summarizes the

*We do so because the HBS is available only for 2010.
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data-construction process, and Appendix A provides more details.

We follow Aguiar and Hurst (2007) in classifying the time-use categories as
market hours, home hours, and leisure. Market hours comprise time spent work-
ing, job searching, and commuting; home hours comprise time spent cooking,
cleaning, and household maintenance; the remainder of the time is classified as
leisure. Hours for each age are constructed as average weekly hours per adult for
that age group.” Accordingly, the constructed hours takes into account the labor
force participation at that age.

Following Dotsey et al. (2014), we classify consumption expenditures related
to home production as home inputs and the rest as market goods. Home inputs
include food at home, household operations, household furnishings and equip-
ment, utilities, housing maintenance, and housing expenditures (which consists of
actual rents for renters and equivalent rents for homeowners). The CEX and HBS
group all transportation expenditures together, and it is not feasible to separate
the portion of expenditures for use in home production from the portion for other
purposes. Following Dotsey et al. (2014), we prorate transportation expenses by
travel time for market and home activities that we obtained from the MTUS.

The CEX and HBS are designed to collect expenditures by households on goods
and services and thus do not include spending by government and nonprofit orga-
nizations on behalf of households. Because of the importance of the latter expen-
ditures in household consumption and the difference in their size between France
and the United States, it is important to take them into account when performing
welfare analysis. Although these expenditures are not included in households’ ex-
penditures, they are included in Personal Consumption Expenditures (PCE) of the
National Accounts. Hence, we proportionally change the expenditure for each age
group in the expenditure surveys for both the United States and France so that the
ratio of average expenditure (market plus home, averaged for all age groups) to
average income is equal to the PCE-to-GDP ratio. This adjustment shifts the age
profiles of expenditure up and down but keeps the relative expenditures constant
across age groups and between market and home expenses. See Appendix A for
the detailed adjustment procedures.

2.2 Data Facts

In this subsection, we document the similarity and differences in the age profiles
of expenditure and time allocations between the United States and France. These

“Borella et al. (2018) show that to better match the aggregates, it is important to calibrate (or
estimate) the model including both men and women in the data.

As a robustness check, we use total market hours and total home hours to prorate the trans-
portation expenditure. The data facts are almost the same as what is reported in Figure 1.
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are the facts we aim to account for with our quantitative model. Figure 1 displays
the profiles for expenditure and hours by age in two-year segments. Hours are
reported as a fraction of the total available time—one hundred hours per week.
Expenditure shares are the ratios of the adjusted expenditures to the average

economy-wide income.

Figure 1: Age Profiles of Expenditure and Hours
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Notes: Hours are reported as a fraction of the total available time—one hundred hours per week. Expenditure shares

are the ratios of the adjusted expenditures to the average income. Expenditures are constructed from the Consumer

Expenditure Survey for the United States and from the Household Budget Survey for France. Hours are constructed
from the Multinational Time Use Study.

The profiles in both countries exhibit similar life-cycle patterns. The profile of
expenditures on market goods and home inputs exhibits a typical life-cycle hump
shape. In both countries, expenditures on home inputs exceed expenditures on
market goods at every age. Market hours, in both countries, increase slightly for
people in their thirties relative to those in their twenties and are flat for most of
people’s working lives before sharply decreasing in the fifties. Home hours, on the
other hand, increase with age.

Despite the similarities, the age profiles differ in three important dimensions
between the two countries. First of all, market hours are lower and home hours
are higher in France than in the United States at every age. Second, although
Americans spend a larger share of their income on both market goods and home
inputs than French, the difference in the share of expenditure is smaller for home
inputs than for market inputs. To highlight those two facts, we report, in Table 1,
aggregate shares of hours and expenditures across all ages. For an average adult,
the share of market hours is lower in France by 4 percentage points (four hours per
week) and the share of home hours is higher by 3 percentage points (three hours
per week). As a result, market hours per adult are 14 percent (0.04/0.28) lower
and home hours per adult are 19 percent (0.03/0.16) higher in France than in the
United States. In contrast, the expenditure share in France is 7 percentage points
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lower for market goods and only 5 percentage points lower for home inputs.”

Table 1: Data: Aggregate Hours and Expenditure Shares

| Nw Ny | g B
Us 028 016 029 038
FR 024 019 | 022 033
FR-US | -0.04 0.03 | -0.07 -0.05

Notes: The reported values are aggregate hours and expenditure shares across all ages. N;; denotes market hours share,

N, denotes home hours share, % denotes market-goods expenditure share, and £ denotes home-inputs expenditure
share.

Third, as is shown in Figure 1, although households in both countries shift their
allocations of time and expenditures from market to home over the life cycle, the
shift is much faster and stronger in France. To highlight this fact, in Table 2 we
report the ratio of market to home allocations for expenditure and hours for every
ten-year age group. The values decline with age in both countries, indicating a
shift of time and expenditures from market to home as households age. However,
the declines are larger in France than in the United States. Specifically, the reported
ratio of hours declines from 2.23 at age twenty-eight (the average of twenty-four
and thirty-three) to 0.08 at age sixty-eight (the average of sixty-four and seventy-
three) in France, compared with a much smaller decline from 2.57 to 0.54 in the
United States. Similarly, the ratio of expenditure in France declines by half (from
0.84 to 0.47) between ages twenty-eight and sixty-eight while it barely declines in
the United States.

Table 2: Data: Market Allocation Relative to Home Allocation by Age

Age Time Expenditure
US FR| US FR

28 | 257 223|0.74 0.84
38 224 194|0.72 0.74
48 | 212 1.74 | 0.82 0.73
58 1.71 0.83 | 0.81 0.60
68 054 0.08 | 0.72 0.47

Notes: This table reports the ratio of market to home allocation of expenditure and hours for every ten-year age group.
For example, age twenty-eight represents the average for ages twenty-four to thirty-three.

In summary, we find three important differences in the allocations of expendi-

ture and hours between the United States and France. First, the French, at every

‘The expenditure shares are lower in France for both market goods and home inputs because
taxes are higher there.
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age, work less in the market and more at home than Americans. Second, the cross-
country difference in the expenditure share of market goods is larger than that in
the expenditure share of home inputs. Third, although both American and French
households shift their allocations of time and expenditures from market to home

as they age, the shift is much faster and stronger in France.

3 The Model Economy

Before presenting a full-blown life-cycle model to quantify the extent to which both
the tax and transfer programs and market and home productivity can account for
the documented differences in the age profiles between the two countries, we first
use a static model to show how taxes, wages, and home productivity affect the

allocation of hours and expenditures at home and in the market.

3.1 Static Model

In the model, there is one representative household who lives for one period. The
representative household is endowed with one unit of time and derives utility
from a composite consumption good that consists of a market good and a home-
produced good. She also values leisure and allocates her time endowment to
market work, home production, and leisure.

The utility function is as follows:

1—v

1— L 1— L. 1L
[wse B +(1—ws)l 8] & —1
L—v

U(c,l) = , (1)
where [ is leisure, ¢ is the composite consumption good, {3 > 0 is the elastic-
ity of substitution between [ and ¢, and < is the relative risk-aversion parameter.
The composite consumption good is produced by aggregating the market good
cm and home-produced good cj through a constant elasticity of substitution (CES)
aggregator:

1-4 -2 i
¢ = lwatm ? + (1 —w)e, 2] @, (2)
where 7, > 0 is the elasticity of substitution between the market good and the

home good. The home good is produced according to the following production

function: 1

1—L 1- 1 11
o =zplwrd O+ (1—wi)(ony) O] &, 3)

where d is the market good used in home production and is called the home input,
ny, is the labor input, zj, is TFP at home, and v is labor-augmenting technology in
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home production.” {; > 0 is the elasticity of substitution between home input 4
and home time ny,.

Let 7. be a proportional consumption tax and 7; be a proportional income tax.
The tax revenues are discarded. Normalizing the price of market goods to one, the
household’s budget constraint is as follows:

1+ )(em+4d) =1 —1)wnpy, 4)

where w is the wage rate and n,, = 1 — [ — nj, is market hours.

The solution to the household’s maximization problem yields the following two
propositions that characterize the effects of taxes, wages (market productivity), and
home productivity on allocations of hours and expenditure. The derivations are
provided in Appendix B.

Proposition 1: I is not affected by z, is decreasing in w, and is increasing in
7; and .. In addition, it is decreasing in v iff {; < 1.

The intuition is as follows. The ratio of the two inputs in home production,
", is decreasing in the price of home hours relative to home inputs. The price
of home hours is the after-tax market wage. An increase in wage rate w, or a
decrease in income tax rate 7; or in consumption tax rate 7., increases the price of
home hours relative to home inputs and leads to a lower “. While the magnitude
of these effects depends on the elasticity of substitution between home inputs and
home time ({;), their signs do not. In contrast, the qualitative effect of the home
labor-augmenting technology (v) on the allocation of home hours and home inputs
depends crucially on the elasticity of substitution. A rise in v leads to an increase
in effective home-production hours (vny,) but a decline in raw home hours (1)
since less time is needed to produce the same amount of output. The condition
{1 < 1 implies that home inputs and home hours are complements; as a result, the
rise in effective home hours leads to an increase in home inputs and thus a decline
in 7.

Proposition 2: < is decreasing in zj iff { > 1. In addition, it is decreasing in
T, Tj, and v and is increasing in w iff {1 < (.

The change in the ratio <% depends on the substitution between home goods
and market goods and the substitution between home hours and home inputs.
The effect of home TFP (z;,) works through the substitution margin between home
goods and market goods: when home goods and market goods are substitutes

({2 > 1), an increase in z;, induces substitution from market goods to home goods,

"We follow Greenwood and Hercowitz (1991) and McGrattan et al. (1997), among others, and
assume that home production takes time and home capital as inputs. In those papers, home capital
consists of residential housing and consumer durables. Our definition of home inputs includes

residential housing, consumer durables, and some nondurables, such as food at home. See section
2.1 for details.
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resulting in a decline in the ratio of c;; to d. The effects of other variables work
through both substitution margins. Specifically, a decrease in the consumption tax
T, the income tax T;, or labor-augmenting technology v or an increase in wage w
favors consumption in the market over consumption at home and leads to sub-
stitution from home to market goods. As proven in Proposition 1, these changes
in policies and productivity also lead to substitution from home hours (effective
home hours vny, for changes in v) to home inputs. When {1 < {, the substitution
from home goods to market goods is stronger than that from home hours to home
inputs, generating a rise in .

In summary, the static model illustrates the effects of the consumption tax,
the income tax, the wage rate, home TFP, and home labor-augmenting technology
on the allocations of time and expenditure. It also shows the importance of the
elasticity of substitution between market goods and home goods ({») and that
between home time and home inputs ({;) in generating these effects. However, it
is silent on how allocations vary over the life cycle and how they are affected by
the social security system. Next, we introduce a richer life-cycle model to quantify

the effects of policies and productivity on the allocations.

3.2 Life-Cycle Model

The model is built on Dotsey et al. (2015). It is an overlapping generations model
with an infinitely lived government. The government collects taxes on consump-
tion and labor income to provide social security benefits to retirees and to fund
government spending. There is no aggregate risk, and households face death
shocks and uninsurable idiosyncratic shocks to their market labor productivity.

3.2.1 Market Production

A representative firm produces a final good according to the following production
function:
Y = F"™(K,Ly,) = K*L1 %, (5)

where K is the aggregate capital stock and L, is the aggregate labor input mea-
sured in efficiency units. The final good can be used in four different ways. It
can be consumed directly, used as an input in the production of the home good,
invested in capital stock, or purchased by the government. The capital stock depre-
ciates at rate 6*. The representative firm pays a social security tax on its total wage
bill at rate 7. Normalizing the price of the final good to one and denoting the in-

terest rate by r and the wage rate per efficiency unit by w, the firm’s maximization
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problem is as follows:

where F["(K, L;;) and FJ"(K, Ly,) are the marginal product of capital and the marginal
product of labor, respectively.

3.2.2 Households

Households have the same preferences and home-production function as those
given in the static model. We assume that home TFP and home labor-augmenting

technology are both constant over the life cycle.’

Demographics. There are T overlapping generations of households. Each
generation is indexed by their age t = 1,2,...,,T. Hence T denotes the maximum
possible age. The life span is uncertain, and the exogenous survival probability is
denoted by A; for households of age t. We assume a constant population growth
rate g. Since the evolution of the population is stable, the distribution of house-
holds by age is constant at any point.

At birth, a household draws her initial assets from a distribution constant for
each generation. The uncertainty of life span may lead to a positive amount of
assets at death, which are first used to finance the initial assets of the next genera-
tions and then equally distributed to households younger than age fifty as bequest
bs.

Labor Productivity. A worker’s labor productivity in the market comprises a
deterministic component and a stochastic component. The deterministic compo-
nent is age dependent and is denoted by e;. The stochastic component, denoted by
el for worker i at age t, follows a Markov process:

Ing. = peInel_| + vl, v} ~ N(0,02). (6)

The total productivity of worker i at age t is eel, the product of the worker’s age-
t deterministic efficiency unit and age-t productivity shock. This parsimonious
productivity process follows the literature and captures well the wage dynamics
observed in the data.

Dotsey et al. (2014) show in Figure 5A that estimated home-production productivity across
the life cycle is very flat, with a hump at age fifty that is only 7 percent higher than that at age
twenty-four.
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Borrowing Constraints. The household is borrowing constrained with a debt
limit equal to twice her lowest possible labor income next period, assuming that
she spends half of her time working in the market. That is, at any given time a
household’s financial wealth next period, denoted by a’, must satisfy the following
condition:

a > —edw, 7)

where ¢’ is the next period’s age-efficiency unit and ¢ is the next period’s lowest

possible labor-efficiency shock.

3.2.3 Tax and Social Security System

The government maintains a pay-as-you-go social security program. In addition
to taxing firms, the government imposes a social security tax on households’ labor
earnings to finance social security payments. Households” labor earnings are sub-
ject to a constant tax rate of 7; up to a maximum income of ymax. Retirees receive
social security benefits each period. The level of the benefits is determined by a
household’s average social security earnings ys and is also adjusted by the claim-
ing age. The government imposes taxes on consumption and labor earnings. The
consumption tax is proportional, with a rate of 7. levied on both market consump-
tion ¢, and home input d. The income tax is progressive, and the average tax rate
on labor income y is T(-). We assume that half of the social security payment is
subject to the income tax. We further assume that the government uses the total
tax revenues from the consumption tax, income tax, and social security tax, net of
social security payments, to finance exogenous government spending G and thus

balances its budget each period.

3.24 Equilibrium

Households” Problem. We focus on a stationary equilibrium with constant in-
terest rate and constant wage rate per efficiency unit of labor. A household’s state
variables are x = (t,a,¢,ys,t,), where t denotes the household’s current age, a de-
notes financial assets carried over from last period, ¢ denotes the labor-productivity
shock in the current period, ys; denotes average social security earnings up until
the previous period, and ¢, denotes retirement age, with t, = 0 indicating nonre-
tirement. Let B be the discount factor and f’ be the retirement decision for next
period with f’ = 1 indicating retirement and f’ = 0 indicating nonretirement. The
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household’s problem is given by:

V(taeystr) = max {U(c,l — Ny — npy)+

{Cmrd/a,/ni’H/nh/f/}

mﬁma+Lma%ﬁ& )
subject to (2), (3), (7), and

Y = erewny (9)

a' <bi+ (1+7r)a+y+ pen(tr,ys) — Tss Min(Yimax, y) (10)
— 7(y + 0.5pen(t,, ys))(y + 0.5pen(t,, ys)) — (1 + 7¢) (cm + d)

TG—D%+mm@mwth tr =0t <ty

/ [(tm — 1)ys +min(Ymax, ¥) | /tm,  tr = 0,8 > t, ys < Min(Yimax, Y)

Ys = 9 . (11)
Ys, ty =0,t > ty, Ys = mln(]/max/ y)
\yS/ t?’ > OI
0, '=0,

f = ! (12
t+1, f'=1,

Cm Z O/ s Z 0/ 0 S nmlnh S 1/ (13)

where pen(t,, ys) is the social security benefit, which is a function of the retirement
age and the average social security earnings over the entire working life. In any
period, a household’s resources consists of her asset holdings a, labor earnings v,
pension pen(t,,ys), and received bequests b;.

We assume that households receive a pension only after they claim social se-
curity benefits (¢, > 0), and even after that, they can still work. Following the
actual policy, the social security benefits are calculated based on the best t,, years
of earnings before retirement. The evolution of average social security earnings,
described in equation (11), mimics this feature. Specifically, for a household who
has not claimed social security benefits, average social security earnings ys accu-
mulate in the first t,, years, and from t,, years onward, ys only accumulates when
the current-period earnings y exceed the average social security earnings y;. For a
household who has claimed social security benefits, average social security earn-

ings do not update.

Definition of the Stationary Equilibrium. Let v(x) be the invariant distribu-
tion of people over the state space, C;; the aggregate consumption of the market
good, D the aggregate home input, I the aggregate investment on capital, Ny, the
aggregate market hours, Nj, the aggregate home hours, and S = [ pen(t,, ys)v(dx)
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the total pension payments. The stationary equilibrium is defined as follows.

Definition 1. A stationary equilibrium is given by value functions V(x); policy
functions ¢y, (x), d(x), a’'(x), nm(x), ny(x), f'(x); bequest bs; government poli-
cies ., T(+), Tf, Ts, pen(t,,ys), and G; interest rate r and wage rate w; and the
invariant distribution v(x), such that the following conditions hold:

(i) Given the interest rate, the wage, the government policies, and the expected
bequest, the value functions and policy functions solve the household’s maximiza-
tion problem.

(ii) v(x) is the invariant distribution of households over the state space.

(iii) The expected bequest equals the actual bequest:

/btv(dx) [ a1+ )] o(dx) = /(1 — A [+ r)alu(dx)

t=0

(iv) The price of each factor is equal to its marginal product.
(v) The government budget is balanced each period:

/ [Te(cm +d) +T(y + 0.5pen(tr, ys))(y + 0.5pen(t,, ys)) + T min(yYumax, y)] v(dx)

(vi) All markets clear.

4 Calibration to the US Economy

We calibrate the model economy to the salient features of the US economy.” We set
the parameters of our model in two steps. In the first step, we choose parameters
that can be cleanly identified outside our model. The calibrated parameters in
the first step are reported in Table 3. In the second step, we estimate jointly the
remaining seven parameters by minimizing the difference between the model and
data moments for households” allocations of expenditure and time. The calibrated

parameters in the second step are reported in Table 4.

4.1 First-Stage Calibration

A period in the model is two years. For the purpose of exposition, the reported
parameter values are converted to annual frequency, unless stated otherwise. Each
person enters the model at age twenty-four. The maximum age T is set to be
ninety-eight. The conditional biannual survival probabilities A;, shown in the left

’See Appendix C for details of the computation algorithm.
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panel of Figure 2, are taken from the Social Security Administration Life Tables
in 2000 with both genders included. We set the risk-aversion parameter 7 to 1.5,
following Gourinchas and Parker (2002).

Table 3: First-Stage Calibrated Model Parameters

Parameters Value  Source

Demographics

T maximum life span 98

At survival probability tig. 2 SSA Life Tables

Preference

0% risk-aversion coefficient 1.500 Gourinchas and Parker (2002)
Technology

Zp TFP in home production 1 normalization

v labor-augmenting tech. in home prod. 1 normalization

o capital share in NIPA 0.3565  Dotsey et al. (2015)

ok annual depreciation rate 0.045 authors’ calculation
Endowment

e age-efficiency profile fig. 2 authors’ calculation

Pe AR(1) coef. of income process 0.96 Huggett (1996)

o2 innovation of income process 0.045 Huggett (1996)

o? var. of income process at age 1 0.38 Huggett (1996)
Government policy

tm years counted in soc. sec. 36 authors’ calculation

ty soc. sec. retirement-age range 62-70  authors’ calculation

Ymax soc. sec. tax cap 2.47 Huggett and Ventura (2000)
pen(t;ys) soc. sec. benefit see text Huggett and Ventura (2000)
Ts soc. sec. tax rate on employee 0.052 authors’ calculation

Tf soc. sec. tax rate on employer 0.052 authors’ calculation

7(+) income tax function see text Guvenen et al. (2014)

Tc consumption tax rate 0.075 McDaniel (2011b)

Without loss of generality, we normalize home TFP (z;,) and home labor-augmenting
technology (v) in the United States to one; therefore, 1, is measured in units of raw
labor. We set the capital share a to 0.3565, following Dotsey et al. (2015), who cal-
ibrate this parameter using National Income and Product Accounts (NIPA) and
Fixed Assets Tables from the Bureau of Economic Analysis. We set the depreci-
ation rate 6* to 0.045, a value within the range of those used in the literature, to
match the average investment-to-output ratio of 0.17 for the United States in the
2000s. The implied interest rate on capital (net of depreciation), r, is 0.07.

The deterministic life-cycle profile of labor productivity for the United States,
et, is shown in the right panel of Figure 2. Appendix A describes how we use
the March supplement of the Current Population Survey (CPS) to construct the
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age-efficiency profile. The profile is hump-shaped with a peak at around age forty.
We take the idiosyncratic productivity shock from Huggett (1996). In particular,
the variance of the initial productivity shock at age twenty-four is set to 0.38, the
variance of the stochastic productivity process ¢? is set to 0.045, and the AR(1)
coefficient p; is set to 0.96. The joint distribution of wealth and initial labor pro-
ductivity of households is taken from Dotsey et al. (2015), who calculate it using
heads of household aged twenty-three to twenty-six in the Survey of Consumer
Finances (2001, 2004, and 2007).

Figure 2: US Survival Rate and Efficiency Unit
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The social security system mimics the Old Age and Survivor Insurance com-
ponent of Social Security in the United States. The number of highest-earning
years used to calculate the social security benefits, t,,, is thirty-six. The earliest age
to claim social security benefit is sixty-two, and the age to receive the full retire-
ment benefit is sixty-six. The retirement benefit at age sixty-six is borrowed from
Huggett and Ventura (2000):

0.9ys, ys < 0.2;

0.18 +0.32(ys — 0.2), 02 <ys <124
0.5128 +0.15(ys — 1.24), 1.24 < ys < Ymax;
0.6973, Ys > Ymax

pen(t—eeys) =

The bend points and the social security earnings cap ymax are expressed as frac-
tions of average earnings. The retirement benefit is adjusted by the claiming age
as follows. A household retiring at age sixty-two receives 75 percent of the full
pension. A household retiring at age sixty-four receives 87 percent of the full
pension. A household retiring after age sixty-six receives 8 percent more pension
benefits per year up to age seventy. The social security tax rates for employee T;
and employer 7y are both set to 5.2 percent, which are the average rate since the
17



1970s.

We borrow the income tax function from Guvenen et al. (2014), who estimate it
from the OECD tax-benefit model."” The consumption tax rate is set to 7.5 percent,
which comes from McDaniel (2011b).

4.2 Second-Stage Calibration

There are seven parameters left for the second-stage calibration: B, {1, (2, {3, w1,
wy, and w3. We jointly estimate them to match the capital-output ratio, K/Y,
of 3.1 and the four US age profiles of hours and expenditures at home and in
the market as shown in Figure 1. The model is therefore overidentified. The
calibrated parameters are reported in Table 4. The estimation implies that home
time and home inputs are complements (J; < 1), home goods and market goods
are substitutes ({ > 1), and consumption and leisure are complements ({3 < 1).

Table 4: Second-Stage Calibrated Model Parameters

Parameters (7) Value
B discount factor 0.9412
(1 sub. betw. home input and n;, 0.6020
w1 weight on home input 0.7597
(> sub. betw. market and home goods 1.7412
wy weight on market goods 0.3146
(3 sub. betw. consumption and leisure 0.7867
w3 weight on consumption 0.4862

Although the model is quite complex and the parameters and moments do not
map one to one, some parameters affect certain moments more than others do.
For example, B is largely determined by K/Y. The elasticity and share parame-
ters play crucial roles in determining the changes in the allocations of hours and
expenditures over the life cycle. The age variations in home-production time and
home-input expenditures help to identify {; and w;. The age variations in expen-
ditures of the market good and the home input help to pin down (, and w;. The
age variation in the sum of market hours and home hours is useful in identifying
(3 and ws since those two types of hours help determine leisure hours.

“Guvenen et al. (2014) lump income tax and social security tax together. Since social security
tax is linear, we subtract it from the estimate of Guvenen et al. (2014) directly to derive the tax
rate 7(y) as a function of income y: T(y) = 1.1568 — 0.009420(y/ AW) — 0.942610(y / AW) 010259,
where AW is the average income.
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4.3 Model Fit for the US Economy

This subsection compares the results of the calibrated model with the actual US
economy. Figure 3 compares the model-implied age profiles of expenditure and
hours with the targeted profiles, along with the 95 percent confidence interval of
the data. The figure shows that the model generally matches the actual allocations
of time and expenditure by age both in the market and at home. The hours profiles
are mostly sensitive to the age-efficiency profile, with social security also playing
a role in old age. The borrowing constraint and precautionary-saving motive sup-
press the consumption of young households. As households age, these forces are
alleviated and consumption expenditures increase until old age, when the increase
of mortality risk leads to a decline in the consumption path.

Figure 3: Age Profiles in the United States — Model versus Data
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Notes: The dashed lines are the 95 percent confidence intervals of the data.

The model also matches the aggregated variables in the data. Table 5 reports
the model predictions side by side with the data. In the table, the investment-
to-GDP ratio is the only targeted moment, and it is matched exactly. Since the
model matches well the age profiles, it is not surprising that it also matches closely
the aggregate hours and expenditure-to-output ratios for both market and home
allocations. Moreover, the model-implied ratio of social security expenditure to

GDP of 5.7 percent, an untargeted moment, is close to the data value of 7 percent.

19



Table 5: Model and Data Comparison in the Aggregate

| Nw Ny v ¥ ¢ ¢
US model | 02778 01582 02837 03740 0.1697 0.1868 0.0565
USdata | 02795 01567 02817 03716 0.1697 0.1920 0.0700

Notes: The reported values are aggregate shares of expenditures and hours across all ages. N, denotes market-
hours share, N;, denotes home-hours share, % denotes market-goods expenditure share, and % denotes home-inputs
expenditure share.

5 Simulation of the French Economy

In this section, we simulate the French economy, allowing France to differ from the
United States in age-efficiency profile (market productivity), home productivity,
and tax and benefit systems, including consumption tax, income tax, and social
security. We first discuss parameters in France that differ from those in the United
States. We then simulate the hours profiles and expenditures profiles for France
and compare the predicted profiles with those in the data and in the United States.
Lastly, we decompose the model-predicted differences between the United States

and France into contributions from policies and productivity.

5.1 French Policies and Productivity

This subsection describes the parameters that have different values from those in
the United States. We assume that France is a small open economy and thus has
the same interest rate as the United States. The investment-to-GDP ratio in France
is 1.5 percentage points higher. We adjust the depreciation rate to generate that
ratio; the resulting depreciation rate is 5.5 percent."

Table 6 compares the parameters that differ between the two countries. The
consumption tax and income tax functions come from the same source as those for
the United States. The consumption tax rate in France, 24 percent, is much higher
than that in the United States, 7.5 percent. The left panel of Figure 4 compares
the income tax function in the two countries, where income is normalized by the
average household income in a country.” As shown in the figure, the income tax
is more progressive in France than in the United States. However, the difference is
small except for income above four times the average.

The French social security system differs dramatically from the US system.

It consists of a public pension and a mandatory occupational pension, both of

"The difference in the depreciation rate contributes little to the allocation differences between
the United States and France.

“The French tax rate as a function of before-tax income y is given by t(y) = 0.43790 +
0.00339(y/ AW) — 0.24249(y / AW) ~041551 ‘ywhere AW is average income.
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Table 6: Parameters That Differ by Country

Government policy UsS FR

Te consumption tax rate 7.5% 24%
7(+) income tax function see section 4.1 see text
Ts soc. sec. tax rate on employee 5.2% 9.45%
Tf soc. sec. tax rate on employer 5.2% 14.0%
tm years counted in soc. sec. 36 32

ty soc. sec. retirement-age range 62-70 60-70
Ymax soc. sec. tax cap 247 3
pen(t;ys) soc. sec. benefit see section 4.1  0.8516ys
Productivity US FR

e efficiency profile Figure 4 Figure 4
v labor-augmenting tech. in home prod. 1 0.4962
Zj, TFP in home production 1 1.3569

which we incorporate. We summarize the choice of the policy parameters here
and provide more details in Appendix D. The reference earnings to determine the
benefit is the best thirty-two years of earnings. The earliest age at which one can
claim social security benefits is sixty, and the age at which one can receive the full
retirement benefit is sixty-six. If a household retires before age sixty-six, pension
benefits are reduced by 5 percent per year; and if a household retires after age
sixty-six, pension benefits are increased by 5 percent per year up to age seventy.
The social security earnings cap is three times average earnings. The tax rate on
employees is 9.45 percent, and the tax rate on employers is 14.0 percent.” The
pension benefit is a linear function of the average life-time earnings subject to the
social security tax, and we calibrate the benefit-replacement ratio at age sixty-six
to match the ratio of aggregate social security spending to GDP of 13 percent. The
resulting ratio is 85 percent.

The French age-efficiency profile is constructed from the French Labor Force
Survey; the details are described in Appendix A. GDP per capita in France is
about 80 percent of that in the United States. We adjust proportionally the level
of the French efficiency profile to match the cross-country difference in GDP per
capita found in the data. The right panel of Figure 4 compares the deterministic
profiles of labor productivity in the two countries. French labor productivity rises
slower from young to middle age and decreases faster afterward. As a result, an
average worker of age sixty is as productive as a twenty-five-year-old in the United
States, whereas she is only half as productive in France.

We allow both TFP in home production, z;, and labor-augmenting technology
in home production, v, to differ from their values in the United States. In particular,

PThe rates are conservative compared to the actual rates.
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Figure 4: Efficiency Profile and Income Tax Function
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we calibrate those two parameters to match two aggregate moments in French data:
home hours per adult (0.19) and the ratio of aggregate home expenditure to GDP
(0.33). As is reported in Table 6, the resulting v is lower in France than in the
United States. This is driven by the fact that France has a higher ratio of aggregate
home hours to home inputs (0.72) than the United States does (0.42). As proven in
Proposition 1, a lower v is needed to match a higher ratio of home hours to home
inputs when home time and home inputs are complements ({; < 1). Moreover,
as proven in Proposition 2, a higher home-production TFP is needed to match the
lower ratio of market-goods to home-inputs expenditure in France (0.68) than in
the United States (0.76).

5.2 Model Fit for the French Economy

This subsection compares the model’s prediction of the allocations of expenditure
and hours with the French data.

Hours Profiles and Expenditure Profiles by Age. Figure 5 compares the model-
predicted age profiles of expenditure and hours at home and in the market, which
are nontargeted in the simulation, with the data. As the figure shows, the model
nearly reproduces the French profiles with the differences from the US in the tax

and transfer programs and in productivity at home and in the market.""

“Compared with two recent papers—Erosa et al. (2012) and Laun and Wallenius (2016)—
studying cross-country differences in labor supply late in the life cycle, our model can account
for more differences in labor supply between the United States and France because we adopt a rich
model with home production and allow for differences in home productivity.

Our model overpredicts market hours at younger ages because France’s faster decline in the
age-efficiency profile and its lower social security claiming age both incentivize French households
to shift market hours from older ages to younger ages. This overprediction implies that French
market hours at young ages are also affected by factors other than tax and transfer programs and
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Figure 5: Age Profiles in France—Model versus Data
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Notes: The dashed lines are the 95 percent confidence intervals of the data.

Aggregate Allocations of Hours and Expenditure. Table 7 reports the model-
implied aggregate hours and aggregate expenditure-to-GDP ratio in the two coun-
tries together with the data reported in Table 1. The model matches not only the
targeted aggregate home-production time and home-inputs expenditure share, but
also the untargeted aggregate market hours and market expenditure share. More
specifically, the model is able to generate the first two facts documented in section
2.2: France has less market time and more home time than the United States, and
the cross-country difference in the expenditure share of market goods is larger
than that in the expenditure share of home inputs.

Table 7: Aggregate Hours and Expenditure Shares—Model versus Data

| Na Ny | B
FR model 025 019 | 022 033
FR data 024 019|022 033
FR-US model | -0.03 0.03 | -0.07 -0.05
FR-US data | -0.04 0.03 | -0.07 -0.05

Notes: The reported values are aggregate shares of expenditures and hours across all ages. Nj denotes market-

hours share, Nj, denotes home-hours share, CT’” denotes market-goods expenditure share, and % denotes home-inputs
expenditure share.

In the next subsection, we quantify the contribution of each country-specific
feature in generating those patterns, while we summarize the key mechanisms
here. In the model, both lower efficiency units and higher home TFP in France
favor home production over market production and thus increase home hours and

productivity.
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Table 8: Market Allocation Relative to Home Allocation by Age—Model versus
Data

Time Expenditure

Age | Model Data Model Data
US FR US FR| US FR US FR
28 | 248 244 257 223|072 0.69 074 0.84
38 | 280 227 224 194|081 075 0.72 0.74
48 1210 164 212 174|081 074 0.82 0.73
58 125 0.68 1.71 0.83]0.77 0.67 0.81 0.60
68 | 050 0.10 054 0.08|0.70 0.61 072 047

Notes: This table reports the ratio of market to home allocation of expenditure and hours by age group in ten-year
segments. For example, age twenty-eight represents the average for ages twenty-four to thirty-three.

reduce market hours. Lower labor-augmenting technology in France also increases
home hours and reduces market hours, per the discussion of Proposition 1. As for
expenditure, higher taxes reduce the expenditure shares of both market goods and
home inputs, as more income is directed to tax payments. The estimation implies
that home time and home inputs are complements and home goods and market
goods are substitutes ({3 < 1 < ). Thus Proposition 2 implies that higher taxes
in France generate a larger decline in expenditures on market goods than on home
inputs. These intuitions imply that France’s productivity and tax system favor
production and consumption at home relative to production and consumption in

the market and thus shift hours and expenditures from market to home.

Allocations of Life-Cycle Hours and Expenditure. Table 8 reports the model-
implied ratios of market-to-home allocations for age groups in ten-year segments;
the ratios were not targeted in the calibration. As the table shows, the model is
consistent with the data in that the expenditures on home inputs exceed the ex-
penditures on market goods at every age and market hours are higher than home
hours for prime working ages. More importantly, the model predictions are consis-
tent with the third fact documented in section 2.2—namely, a shift of expenditures
and hours from market to home as households age and a larger shift in France
than in the United States. In the model, this larger shift is mainly driven by the
faster decrease of the French age-efficiency profile at older ages: for one reason, a
lower wage gives rise to less market time and more home time; for another rea-
son, Proposition 2 implies that under our parameterizations of elasticities, a faster
decline in wages leads to a faster decline in market-goods expenditure relative to

home-inputs expenditure.
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5.3 Decomposition

This subsection evaluates the quantitative effect of each country-specific feature in
accounting for the difference in allocations of expenditure and time between the
United States and France. We proceed by comparing the changes in the allocations
after replacing one of the features in France with that in the United States. Since
we assume France is a small open economy, the interest rate and wage rate stay
the same. Table 9 reports the percent changes in the allocations of hours and
expenditure in the aggregate from the French benchmark economy after changing
each factor. As a comparison, the total changes of all factors from the French
benchmark economy to the calibrated US economy are reported in the last row."
Figures 6 and 7 plot the level changes in hours and expenditure by age that result
from policy and productivity changes, respectively. The corresponding life-cycle
profiles are reported in Appendix E. Expenditures in the figures are normalized

by GDP in the benchmark French economy.

Consumption Tax. Row 2 of Table 9 reports the aggregate effect of replacing
the French consumption tax with the US consumption tax. Unsurprisingly, when
we apply the lower US rate to France, households choose to increase consumption
expenditures on both market goods and home inputs. Because consumption and
leisure are complements ({3 < 1), the increase in consumption leads to an increase
in leisure time. Because home inputs and home time are complements (7 < 1),
the increase in home inputs leads to an increase in home hours. As a result of
increases in both home hours and leisure, market hours decline.

More interestingly, the increase in expenditure is larger for market goods than
for home inputs. This is because the elasticity of substitution between market
goods and home goods is larger than that between home inputs and home time
(C1 < C2) and therefore, as demonstrated in Proposition 2, a lower consumption
tax rate induces a stronger substitution from home goods to market goods than
from home time to home inputs and thereby generates a larger increase in market
goods than in home inputs.

As for the magnitude, the consumption tax alone can account for about 30
percent (17.73/57.43) of the cross-country difference in market-goods expenditure
and 23 percent (9.99/42.81) of the difference in home-inputs expenditure. In this
decomposition, the percent change in output is the same as that in total efficiency
units, which is mainly determined by the change in aggregate market hours; thus

the change in output has a similar magnitude as that for market hours. Adopting

*Because of the interactions between different factors, the sum of effects from individual factors
is not exactly equal to the total effect from all factors combined.
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the substantially lower US consumption tax rate leads to a large drop of 35 percent

in total government spending.

Table 9: Decomposition: Percent Change in Aggregate Allocations

(2) Consumption tax 234 093] 17.73 999 | -2.06 -34.58
(3) Social security -5.27  1.64| 10.66 641|422 872
(4) Income tax 0.63 -0.23| 034 -0.15| 0.89 3.64
(5) All policies -6.85 2.24 \ 30.82 16.70 | -5.23 -25.20
(6) Efficiency profile 749 -2.09| 1325 6.38|16.83 10.76
(7) Home TFP 530 -3.08| 19.23 -443| 543 5.1
(8) Home labor-augmenting | 3.16 -13.64 | -15.10 14.63 | 232 217
(9) All productivity \ 16.64 -17.49 \ 14.63 17.47 \ 25.96 21.08
(10) US benchmark | 9.62 -15.12| 57.43 42.81(25.01 -6.14

Notes: This table shows the percent changes in each aggregate variable from the French benchmark after adopting US
values.

Panel (a) of Figure 6 plots the changes in the life-cycle profiles of hours and
expenditure shares after applying the US consumption tax to France. Although the
consumption tax rate is the same for every age group, the changes in allocations are
not uniform and are larger for people of prime working age. To understand this,
note that the reduction in the consumption tax leads to a higher total consumption
expenditure for every household. The increase in expenditure reduces market
hours and increases home hours through income effects. This channel only applies
to nonretirees, and thus the changes in allocations in the working age-population

are larger.

Social Security System. Panel (b) of Figure 6 plots the changes in the life-
cycle profiles when applying the US social security system to France. As the com-
bined social security tax rate for workers and firms falls from 23.45 to 10.4 percent,
households have more income to spend. As a result, they increase expenditures
on both market goods and home inputs at all ages except at the end of their lives.
At the end of life, expenditures on market goods and home inputs both decline
significantly because households run out of assets and their consumption drops
dramatically with the reduction in social security benefits. As can be seen in row 3
of Table 9, differences in the social security system contribute to 15 percent of the
cross-country difference in expenditure on home inputs and 18 percent of the dif-
ference in expenditure on market goods. The magnitude of the effect is substantial

but smaller than that of the effect of the consumption tax.
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Figure 6: Changes in Allocation With US Policies
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Expenditures are normalized by GDP per wroker in the benchmark French economy. Panel (a) shows the changes after
applying the US consumption tax to the French economy. Panel (b) shows the changes after applying the US social
security system to the French economy. Panel (c) shows the changes after applying the US income tax to the French
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economy.

Panel (b) of Figure 6 also shows that when social security taxes are reduced
and social security benefits become less generous, market hours decrease before
the mid-fifties and increase afterward. This is driven by two important changes
in the social security system: first, the reduction in the tax rate, which is mostly
responsible for the reduction in market hours and the rise in home hours before the
mid-fifties; second, the number of years for determining social security benefits,

which increases from thirty-two to thirty-six. Hence, to maximize social security
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benetfits, households choose to retire later and work more years. Correspondingly
they increase their market hours and decrease their home hours at older ages.
Thus, in our model, the difference in the social security system accounts partially
for the lower market time around retirement age in France.” The aggregate effect
of the two changes in policy, reported in row 3 of Table 9, is a reduction in market
hours and a rise in home hours. The reduction in market hours results in a 4.2
percent reduction in output.” Government spending G goes up by 8.7 percent for
two reasons. First, the increase in market goods and home inputs generates more
revenues from consumption taxation. Second, social security tax payments by the
firm are exempted from the income tax. Hence the reduction in the social security
tax rate on the firm leads to higher taxable income and thus higher income tax

revenue.

Income Tax. As shown in Figure 4, the US income tax is less progressive than
that in France but the two tax functions differ only by a small amount. Hence the
quantitative effects of the income tax on allocations are small. After switching to
US income taxes, total revenue from the income tax goes up since most households

face a higher income tax rate. As a result, total government spending goes up.

Efficiency Profile. Panel (a) of Figure 7 shows the changes in life-cycle profiles
when applying the US age-efficiency profile to the French economy. As shown in
Figure 4, the US efficiency profile is slightly lower before age thirty and are much
higher later in life. This leads to a slight decline in market hours before age thirty
and a large increase afterward. Changes in home hours are the reverse of the
changes in market hours over the life cycle, but the changes are mitigated because
leisure hours change in the same direction as home hours.

Row 6 of Table 9 reports the effects on the aggregate allocations. The higher
efficiency level increases output by 17 percent and generates large increases in
expenditures on both market goods and home inputs. As proven in Proposition
2, the ratio of market goods to home inputs is increasing with efficiency units,

resulting in a larger percent increase in market goods than in home inputs. The

VErosa et al. (2012) find that adopting the US social security system eliminates all differences in
hours worked between US and France after age sixty. In our model, social security plays a smaller
role in explaining the lower labor supply after age sixty in France relative to the United States. This
is mainly because the age-efficiency profile in France drops much faster after age sixty in our study,
which accounts for most of the differences in market hours after that age. We show a faster drop
in the age-efficiency profile for France because our wage profiles take into account the potential
wages offers to retirees.

'®The French experiment is a partial equilibrium one with the interest rate fixed at the US value.
Therefore, output is determined only by the aggregate number of efficiency units. The reduction in
output is thus not at odds with the literature that finds that in general equilibrium a less generous
social security system leads to higher output because of an increase in the capital stock.
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difference in the efficiency profile alone can account for 78 percent of the difference

in aggregate market hours and 14 percent of the difference in aggregate home

hours between France and the United States. The contribution of the efficiency

profile to the difference in expenditures is comparable to the contribution of the

social security system. The increases in efficiency units lead to more income and

higher consumption and thus more tax revenue and higher government spending.

Figure 7: Changes in Allocation with US Productivity
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Notes: This figure plots changes from the French benchmark in hours and expenditure by age after adopting US values.
Expenditures are normalized by GDP per worker in the benchmark French economy. Panel (a) shows the changes after
applying the US efficiency profile to the French economy. Panel (b) shows the changes after applying US home TFP to
the French economy. Panel (c) shows the changes after applying the US home labor-augmenting technology level to

the French economy.
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Home-Production TFP. As shown in panel (b) of Figure 7, reducing home-
production TFP to the US level increases expenditures and hours allocated to the
market and decreases those allocated to the home. This is intuitive. Because home
goods and market goods are substitutes ({» > 1), a reduction in home TFP induces
a substitution from home goods to market goods and thus from home hours to
market hours and from home inputs to market goods. The latter effect is proven
in Proposition 2: c¢;,/d is decreasing in home-production TFP. Because old house-
holds work less in the market, the substitution generates smaller changes in their
allocations. Row 7 of Table 9 shows that home TFP alone can account for 55 percent
of the difference in market hours and 20 percent of the difference in home hours
between France and the United States. The increase in market hours generates a
similar-size increase in output, and the rise in output leads to more tax revenue
and thus more government spending.

Home Labor-Augmenting Technology. Panel (c) of Figure 7 shows that rais-
ing labor-augmenting technology at home to the US level increases market hours
and home inputs but decreases home hours and market goods. The intuition for
these results is as follows. A rise in v leads to an increase in effective home-
production hours (vny) but leads to a decline in raw home hours (1) since less
time is needed to produce the same amount of output. As a result, market hours
increase. The increase in effective home hours gives rise to an increase in home in-
puts since home goods and home inputs are complements (J; < 1). Because home
goods and market goods are substitutes ({, > 1), a rise in home labor-augmenting
productivity induces a substitution from market goods to home goods and results
in a decline in market-goods expenditure.

As can be seen in Table 9, home labor-augmenting technology alone can ac-
count for 33 percent of the difference in market hours and 90 percent of the dif-
ference in home hours between the two countries. Thus it is the most important
factor explaining the differences in home hours. The increase in market hours
generates an increase in output, which in turn leads to more tax revenue and thus

more government spending.

Policies versus Productivity. In the decomposition exercises discussed so far,
we changed only one specific feature to the US level and left all remaining model
features at the French level. To separate the effects of policy differences from
the effects of productivity differences, we now conduct decomposition exercises
in which we use either all US policies or all US productivity variables. Rows 5
and 9 of Table 9 report the total effects of all policies and all productivity vari-
ables, respectively. All policies combined are more important than all productivity
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variables combined in accounting for the difference in the expenditure on market
goods and are equally important in accounting for the difference in the expendi-
ture on home inputs between the United States and France. The consumption tax
and social security system are more important than the income tax for determin-
ing expenditure allocations. Productivity is more important in accounting for the
differences in the allocation of hours between the United States and France. In
particular, the age-efficiency profile and home TFP are more important in account-
ing for the differences in market hours, and home labor-augmenting technology is

more important in accounting for the differences in home hours.

6 Policy Experiments for France

While the experiments in section 5.3 are useful for decomposing the effects of
different policies on expenditure and time allocations, they are unsuitable for eval-
uating the effects of policy on welfare because government spending G varies after
the changes in policy. To evaluate the welfare implications of the discussed tax
and transfer policies, we proceed by replacing each French policy with the cor-
responding US policy while holding constant the government spending as that
in the French benchmark economy. This is achieved by imposing an additional
proportional tax or subsidy on all kinds of incomes, including labor earnings and
pension benefits, so that the government budget constraint is still balanced. This
section reports the results of these policy experiments in terms of the allocations

of expenditure and hours and evaluates the welfare implications.

6.1 Policies’ Implications for Allocations

Table 10 reports for each policy experiment the percent changes to the aggregate al-
locations and the proportional income tax rate needed to keep government spend-
ing constant. The associated life-cycle profiles are provided in Appendix E. The
differences in allocations between Tables 10 and 9 reflect the effects of the ad-
ditional income tax, which has a similar effect to the consumption tax. Thus a
negative proportional income tax has a similar effect to the reduction in the con-
sumption tax discussed in section 5.3 and a positive income tax has the opposite
effect.

As reported in Table 10, to compensate for the reduction in tax revenue from
switching to the US consumption tax, a 14 percent proportional tax on income is
needed. The additional income tax leads to a reduction in expenditures on both
market goods and home inputs, which overturns the finding of an increase in

expenditures in the decomposition experiment on the consumption tax. It also
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leads to a rise in market hours and a decline in home hours; thus, the signs of
the changes in market hours and home hours are the opposite of those in the de-
composition experiment. Applying the US social security system to the French
economy requires imposing a negative income tax of 5 percent. The negative in-
come tax generates changes in hours and expenditures in the same direction as the
reduction in the social security tax and therefore further increases market-goods
expenditures, home-inputs expenditures, and home hours and decreases market
hours relative to the decomposition experiment on the social security system. Ap-
plying the US income tax to France requires imposing a negative proportional
income tax of only 1.6 percent, the quantitative effects of which are negligible, just
as they are in the decomposition experiment.

The policy counterfactual of applying all US policies at once requires imposing
a proportional income tax of 10 percent. The total effects are a decline in market
hours and an increase in market-goods expenditure, home-inputs expenditure,
and home hours. For both hours and expenditures, the effects of social security
dominate those of the consumption and income taxes. In all experiments, the
change in output is again the same as the change in aggregate efficiency units and
thus is close to the change in market hours.

Table 10: Policy Experiments: Percent Change in Aggregate Allocation

% Ne Ny Cu D| Y

Consumption tax | 13.57 | 0.18 -0.15| -9.52 -5.32 |-0.39
Social security -492|-6.05 1.96|19.95 11.40|-4.77
Income tax -1.64| 028 -0.09| 3.06 1.40| 0.61
All policies 1048 | -4.82 1.45| 820 4.84|-3.88

Notes: This table shows the percent changes from the French benchmark economy in each aggregate variable after
adopting US values while keeping government spending fixed.

6.2 Policies’” Welfare Implications

This subsection discusses the welfare implications of the counterfactual policy ex-
periments. Following De Nardi and Yang (2016), we measure the expected lifetime
utility of a newborn conditional on her initial draws of labor productivity and asset
position. The change in welfare is measured by the amount of assets that need to
be given to a French household, as a fraction of average income in the benchmark
French economy;, so that each household is indifferent between living in the bench-
mark French economy and moving to the counterfactual economy under the US
policy regime. Hence negative asset compensation indicates that households are
better off in the new French economy under the US policy regime. When reporting
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Table 11: Welfare Implications

Initial productivity Frac. Avg. gain/loss

All 1st 2nd 3rd 4th 5th  gain Winner Loser

Consumption tax | -0.516 -0.247 -0.326 -0488 -0.691 -0.932 0.009 0.434 0.524
SS system 1765 1113 1302 1.648 2184 2985 1.000 1.765 0.000
Income tax 0.035 -0.069 -0.057 0.006 0.110 0.300 0.622 0.089  0.053
All policies 0988 0.642 0.718 0.897 1218 1.797 1.000 0.988  0.000

Notes: This table reports the welfare effects of changing French policy values to the US values. In the first six columns,
a positive number indicates a welfare gain from switching from the French benchmark economy to the economy with
US policy. Welfare effects are reported by the amount of assets required relative to the average income in the French
benchmark economy. The columns “1st” — “5th” report average welfare change by the quintile of the initial productivity
level. The column “Frac. gain” reports the fraction of population who gain from the policy experiment. The last two
columns report the average gain or loss for the population who gain or lose, respectively.

the results, however, we reverse the signs for asset compensation so that a positive
number indicates a welfare gain from switching from the French policy to the US
policy. The welfare measure, derived from the change in a household’s utility, re-
flects not only the changes of market-goods consumption but also the changes in
home production and leisure.

Table 11 reports the welfare implications when France adopts the US policies.
To better understand the welfare benefits and costs of each policy experiment, we
also report the fraction of households that gain and the average gains and losses
conditional on a newborn’s initial productivity draw. Reducing the consumption
tax to the US level while keeping government spending fixed leads to a decline in
welfare for almost the entire population. On average, a newborn would need to be
compensated with a onetime asset transfer at age twenty-four that is equivalent to
51.6 percent of the average income in the benchmark economy. The welfare loss is
driven by the large decreases in expenditure on market goods and home inputs,
as reported in Table 10.

Adopting the US social security system benefits all French households. The rise
in welfare is driven by the increase in market-goods expenditures, home-inputs
expenditures, and leisure time. The welfare gain is especially large for more pro-
ductive households because they pay more to and benefit less from social security
and thus gain more from a less generous system. The result that reducing the size
of social security improves welfare is in line with a large literature analyzing the
effects of reforming the social security system by using models that include var-
ious features, such as liquidity constraints, income and longevity risks, altruism,
flexible labor supply, endogenous benefit claims, housing, and home production.”

The benefits of social security as insurance against labor-income shocks and as an

See, for examples, Nishiyama and Smetters (2007), Fuster et al. (2007), Hurst and Willen (2007),
Chen (2010), Imrohoroglu and Kitao (2012), Laitner and Silverman (2012), Yang (2013), and Dotsey
et al. (2015).
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annuity to insure against mortality risk are outweighed by the costs due to a dis-
tortional income tax and discouragement of savings. Thus, in our model, as in the
literature, reducing the size of the social security system improves welfare.

Although the aggregate effects on hours and expenditures of adopting the US
income tax are small, this policy experiment has a large distributional impact on
welfare. Two-thirds of the households gain, and the rest of the households lose.
This is because the US income tax is less progressive and therefore the policy
experiment leads to an increase in the tax rate for the poor and a decrease in
the tax rate for the rich. Because of persistence in the wage process, households
that have high initial productivity draws are more likely to have high income over
the course of their lives; thus they benefit from a less progressive income tax. In
contrast, households with low initial productivity draws lose.

Lastly, because the welfare gain from adopting the US social security system
is large enough to more than offset the welfare loss from adopting the US con-
sumption tax, when France adopts all the US policies there is a welfare gain for all
French households that is equivalent to a onetime asset transfer at age twenty-four

in the amount of 98.8 percent of the average income in the benchmark economy.

7 Conclusion

Using time-use and consumer-expenditure surveys, we documented large differ-
ences between the United States and France in consumption expenditures and time
use by age. More specifically, we found that the French, at every age, work less in
the market but spend more time on home production than Americans. In contrast,
the French spend smaller shares of their income on market goods and home in-
puts, with a larger difference for market goods. And although both American and
French households shift their allocations of time and expenditures from market to
home as they age, the shift is much faster and stronger in France.

We used a life-cycle model with home production to account for the cross-
country differences in the age profiles of expenditure and hours. The model
features a borrowing constraint, idiosyncratic income shock, endogenous labor-
leisure decision, and endogenous retirement decision. The two countries differ in
their consumption taxes, progressive income taxes, social security systems, age-
efficiency profiles, and home-production productivity. The model simulations
showed that while the age-efficiency profile and home-production productivity
are crucial in accounting for the cross-country differences in allocation of hours,
the consumption tax and social security are more important in accounting for the
differences in the expenditure profiles. Finally, we studied the welfare implications
of the tax and transfer programs. We found that reducing the French consump-
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tion tax to the US level decreases welfare, adopting the US social security system
increases welfare, and adopting the US income tax has a small but distributional
significant effect on welfare in France. The benefit of adopting the US social secu-
rity system outweighs the cost of adopting the US consumption tax; therefore the
net effect of adopting all three US policies is welfare improving.
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Appendix

A Data
A.1 Time Use

We use the Multinational Time Use Study (MTUS) to construct market hours and
home hours.” The latest year for which French time-use data are available is 2010.
For the United States, the data are available for more years and we use the averages
from 2009 to 2011 so that the data cover similar years to those in France. Time-
use data record time diaries from survey respondents. The survey groups time
spent on daily activities into twenty-five types of activity, and we further group
the twenty-five activities into market hours, home hours, and leisure. The division
of the activities follows Aguiar and Hurst (2007). Market and home activities are

summarized in Table A.1. The remainder is leisure activities.

Table A.1: MTUS Activities and Categories

MTUS Variable Category

Paid work Market work
Commuting to work Market work
Gardening Nonmarket work
Pet care Nonmarket work
Food preparation Nonmarket work
Cleaning Nonmarket work
Maintainance Nonmarket work
Remainder Leisure

The MTUS survey records time diaries for different days of the week and shows
that weekdays and weekends have very different time allocations. It is therefore
important to weight observations by day of the week. The MTUS provides such
weights that incorporate the weights for the days of a week (5/7 for weekdays
and 2/7 for weekends) and the population weights. Hence we weight the observa-
tions as suggested by the MTUS. The age profiles of market and home hours are
constructed as the average weekly hours per adult by two-year age segments for
individuals aged twenty-four or above.

“The data can be obtained from http:/ /www.timeuse.org/mtus/.
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A.2 Consumption Expenditure

Consumption Expenditure for the United States. We use the Consumer Ex-
penditure Survey (CEX) to construct consumption expenditures in the United
States.” To be consistent with French data, we construct the average expendi-
tures between 2009 and 2011. We classify the detailed expenditure categories in
the CEX into market and home expenditures following Dotsey et al. (2014). Table
A.2 reports the division of expenditures between market goods and home inputs.
The CEX groups all transportation expenditures together, and it is not feasible to
separate the part dedicated to home production from the other parts, so we pro-
rate transportation expenses by travel time for market and home activities that we
obtained from the MTUS.

We use the actual rent for renters and the imputed rent for homeowners for
spending on housing. We eliminate the observations for any subsidized or student
renters, as their reported expenditures do not reflect the true value of rental costs.
The number of observations eliminated is negligible in both countries. To avoid
extreme values, we also exclude households with total expenditures belonging to
the top and bottom 1 percent of the distribution. We weight the consumption ex-
penditures using the sample-suggested population weights and construct the age
profiles of expenditures on market goods and home inputs as the cross-sectional

averages for every two-year age group, where the age is that of the head of house-
hold.

Consumption Expenditure for France. We use the French Household Budget
Survey (HBS) to construct consumption expenditures in France. The data come
from the Luxembourg Income Study Database.” Similar to the CEX, the HBS
is a cross-sectional household survey that collects information on consumption
expenditure by detailed categories. The data are available for 2010, and there are
over fifteen thousand observations. The categories in the HBS are slightly different
from those in the CEX. We divide these categories into market goods and home
inputs so that they are comparable to those in the United States. Table A.3 reports

the French division of expenditures between market goods and home inputs.

NIPA Adjustment. Let ¢, and d; be the average expenditure levels for age t
in the data, ¢, the average market expenditure, and d the average home expendi-
ture. The adjustment procedure is as follows. First, we derive PCE as a share of
GDP (from the NIPA) and denote the share by s; second, we derive the ratio of

“'Data can be obtained from http://www.bls.gov/cex/.
*Access may be obtained at http://www.lisdatacenter.org/.
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Table A.2: US Market- and Home-Expenditure Categories

Market-Expenditure Categories

Food away from home

Alcoholic beverages

Apparel and services

Tobacco and smoking supplies

Reading

Personal care

Other lodging

Fees and admissions

Televisions, radios, and sound equipment
Other equipment and services

Medical services, prescription drugs, and medical supplies
Education

Insurance

Transport, weighted by market-time share

Home-Expenditure Categories

Food at home

Maintenance, repairs, and other expenses
Household operations

House furnishings and equipment
Utilities, fuels, and public services
Housing

Transport, weighted by home-time share

expenditure for each age group to the average expenditure (across all ages) in the
data (Cg”—j:‘;-*); third, the product of s and the expenditure ratio derived in the second

step gives the adjusted total expenditure-to-income ratio by age group (s Cg’i—i‘;f);

fourth, the expenditure shares for market and home are calculated by assigning

the total expenditure share from step three according to the ratio between market

Cmttde _ Cmt
Cm+d Cmttd:

for home). The adjustment procedure gives an ag-

for

and home expenditures from the data for each age group (s, = s
cmptdy  dp

Cm+d Cme+dy
gregate expenditure share of the same value as the share in the NIPA and keeps

market and s;, = s

the relative expenditures constant across age groups and across market and home

expenses. Figure 1 plots s, and sy ,.
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Table A.3: French Market- and Home-Expenditure Categories

Market-Expenditure Categories

Alcohol and tobacco
Clothing and footwear
Health consumption
Recreation and culture
Education

Restaurants and hotels
Personal care

Personal goods and services
Insurance

Transport, weighted by market-time share

Home-Expenditure Categories

Consumption of food and nonalcoholic beverages
Consumption of furnishings, equipment, appliances, tools, etc.
Water, electricity, gas, and other fuels

Actual rent for renters and equivalent rent for homeowners
Consumption of communication

Transport, weighted by home-time share

Social protection

A.3 Wages in France and the United States

We use the March supplement of the Current Population Survey (CPS 2010-18)
and the French Labor Force Survey (LFS 2010) to construct the age-efficiency wage
profiles.” We compute hourly wages using earnings and usual hours worked at
an individual’s main job. For the decision about labor-market participation, it is
important to know the potential wage offered if nonworking individuals were to
choose to work. But these wage offers cannot be observed. Following Neal and
Johnson (1996), we use the least absolute deviations (LAD) estimator to impute
wages for individuals who are not working. The LAD estimator is the solution to

the following optimization problem:

mg“Zlyi — x|

“French Labor Force Survey: https://www.insee.fr/en/metadonnees/source/serie/s1223/.
CPS microdata sets were obtained from IPUMS: http:/ /cps.ipums.org.
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Here y; is wages and x; is a vector that contains observables such as age, education,
race, marital status, and gender. In addition to current marital status, we include
an indicator variable representing whether an individual was ever married.

Using the estimated equations, we impute a wage for individuals who do not
have an observed wage because they are either unemployed or are out of the labor
force. To compute the age-efficiency profile, we average wages by age, where the
wage comes from the data for individuals with a wage observation and is imputed
from the regression equation for individuals without a wage observation. The
average wage for each two-year age group is then normalized to the average wage
of individuals aged twenty-four to twenty-five. The generated average wages for
prime-aged individuals are quite similar to the actual average wages in the data

because of the high labor force participation rate of prime-aged individuals.

B Solution to the Static Model

The representative agent solves the following problem:

54 e 11%; 1
3 — 3 3 —
max U(c,l) = [wac +(1—ws) ]
Crn, A, 15,1 11—
subject to
-2 -2 i
¢ = [wicy * +(1—wac, 7] @ (14)
1—L 1—L i
cp =zplwnd G+ (1—wq)(ony) G & (15)
(1+1)em+ (1+70)d = (1 —1))wny, (16)
l=1— (n,+np) (17)

B.1 Solution

Let p be the Lagrange multiplier on the budget constraint. FOCs are given as

follows:

oUu oc

(cm) ga = (14 Tc)ﬂ; (18)
ou dc acy,

(d) 9c oc, od (1+7e)u, (19)
ou dc dcy,

(1) 3¢ a0, ony, u(l—t)w, (20)
ou

(1m) o u(l—1jw (21)
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From equations (19) and (20), we have the following:

dc, 1 — 715 dcy,

Plugging in the derivatives gives us the following:

1—1 _1 -1 -+
1+T2ww1d O=(1-w)(v) an, T,
-0
1 8
(1+7) (1-wi)(v) &
or ;
ny (1—1)ww el -1
A= — = 1 22
0= = (Grmnan) )
The ratio A, = 7 can be solved from the definition of ¢ in equation (15) directly:

1
c 1 1-AN\ 1oL
Ay = gh =z <w1 +(1—w) (o) A, gl) .

—— 1-01 i
= 2z <w1 + (1 —wq) ((181 Td;z)lziw;l)> vCl—l) & (23)

From equations (18) and (19), we get the following;:

dc
ac, _ 9
dc
e od

Plugging in the derivatives, we find the following;:

1—wy ¢y d
Thus we derive A, = 7’” as follows:
€2 1— CZ sz_
Acm = 7 = <(1 _ w2)w1> Ach g h1 (24)

From the definition of ¢ in equation (14), we get the following:

L
1 1-1 —

1—=— _ 1
Ac= = = [wWBem™ + (1= w2)A, 2] o (25)

SR
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The ratio of A; = é can be solved by first combining equations (18) and (21):

ou;

2T oc 1—1
- = w
% ocm 1+ 1,

Plugging in derivatives, we get the following;:

[

A d

-5 1+ 1)

w3 c &

w3

Using the definition of A.;, and A., we have the following:

_ & -
i: 1—w3l+1 Ac(AC )ng
d w3worw 1-— T Acm

3
_1N\ Bt
1—w31+1\% A \TG 2
= 3 < wy + (1 — wz) ch ’ Acm
w3wrw 1 — T Acm

A

_1
1— w3 <c>1/§3 1— ws (Acd)1/§3 Cp 2 (1—1)
= = Wy w

1— 1 g3 1— -1 -1 (-1 -1)
w3 +Tc') <w2+(1—w2) (( CUZ)Cdl) A

141

003

g1
ACT}’[

Thus, we have solved the ratios of all other variables relative to d. Finally, we

solve d from the budget constraint:

(1 +7e)Aemd + (1 +7Te)d = (1 — 1)w (1 = (App + Ay) d)

This gives us the following:

(1 —71))w
(14+7)Aem+ (1 +7)+ (1 —1))w(Dpy, + A))

We solve the rest of the allocations as follows:

ny = Ay d,
Ny = 1_(Anh+Al) d,
Cm — Acm d

B.2 Proof of Propositions 1 and 2

Proof of Proposition 1. Equation (22) gives us the following

(1 - %)ww;
1+ 7)(1—wy

log Ay, = —C1log (( )) +(¢1—1)logv
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Thus, we can solve and determine the sign of the following partial derivatives:

T~ -y @
okt _ =
T = <a<o (33)
T s = T <0 (34
al?);o(%im%) >0 (35)

Thus, % (i) is increasing in 7. and 7; and is decreasing in w; (ii) is not affected
by zj; (iii) is decreasing in v iff {; < 1.

Proof of Proposition 2. We first solve and determine the sign of the partial

derivatives with respect to logA.;. Equation (23) gives us the following:

1 _1 1-2
logA., = logz,+ 11 log (w1 +(1- wl)(v)l anA L Cl) (36)
S a

1 1— (1-t)ww o
- (“’1 0o (i) (57)

= logzy, +

Thus, we can solve and determine the sign of the following partial derivatives:

dlogA., )
dlogz, 1>0; (38)
B 01 (1-1)ww; &
dlog Ay, _ BlogAchv _ (1 —wq)Gqo* (‘(HTC)(kwl)) >0 (39)
dlog v v 7 o
& (w1 + (1= wr) (o)1 ((1(;5()110—&31)) )
Note the following;:
-1 1-4
dlogAyy _ dlogAa, A-w)l) B8y (40)
dlog Ay, oA, nh :

Combined with the results in the proof of Proposition 1, we further determine
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the sign of the following partial derivatives:

s Semasine @
ali:;o(% A—Chrz-) N g 1132 2:; ai):(%A—n’;) <0 (42)
alaolgo(gl imrc) - g 1122 2;2 ali;o(% A:ZC) >0 (43)
Moving on to A.y, equation 24 gives us the following:
log(Aem) = Calog (%) + (1 - é) logAcy + (é - @2) logzy, — (44)
(1= w)wr 1 0

We can solve and determine the sign of the partial derivatives with respect to

logAcm. The first step is as follows:

dlogAcy _ dlogAcudlog Ay | 0o G2 02
= 2L Hh=1-Z+XE-0=1- 4
alogzh alogAch Blogzh + 1 gz Cl + @1 €2 €2 <V ( 5)
Secondly, we can see easily that %llzzii’: =1- % < 0iff {1 < . Thus, we can see

that iff {1 < (», the following is true:

dlog Ao dlog Acn dlog Ay,

Tigs. ~ Jlogh.. dloge <0; (46)
S - e o
i - et @
g1 57~ sloga gl 11 < “

C The Computation Algorithm

This appendix describes the computation algorithm. To solve the steady-state
equilibrium numerically, we discretize the stochastic productivity process into a
tive-state Markov chain. The state space for average social security earnings is dis-
cretized into a grid of fifteen points, and the state space for assets is discretized into
an unevenly spaced grid of thirty points. The choice variables are searched over
a grid of two hundred points for home inputs and fifty points for market hours;
they are continuous for other variables. When computing the expected values next
period, we use piecewise linear interpolation to approximate value functions for
the points not on the state grids.

We solve for the steady-state equilibrium in the United States as follows:
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1. Guess the interest rate r and the wage rate w.

2. Guess the amount of accidental bequests.

3. Solve the value function and policy functions for the last period of life. By
backward induction, repeat at each age until reaching the first period in life.

4. Starting from the initial distribution at the beginning of the life cycle, com-
pute the stationary distribution of households by forward induction using the pol-
icy functions.

5. Check whether the amount of associated accidental bequests equals the
initial guess. If not, go back to step 2 and update accidental bequests.

6. Check whether market-clearing conditions hold. If not, go to step 1 and
update the initial guesses.

The French economy is solved similarly, except that we do not need to iterate
over interest rate and wage rate to check for market-clearing conditions. In the pol-
icy experiments in which government spending is fixed to that in the benchmark
French economy, we further iterate over the proportional income tax to balance the

government budget constraint.

D French Social Security Tax

The French social security system consists of a public pension and a mandatory
occupational pension. The public pension had a flat tax rate of 6.75 percent for
employees and 9.9 percent for employers in 2010 and an earnings cap of average
earnings. The mandatory occupational pension comprises two schemes. One is for
employees (the ARRCO, or Association for Employees” Supplementary Pension
Schemes), and the other one is for managerial and executive staff (the AGIRC, or
General Association of Retirement Institutions for Executives). We use the first one
to calculate the social security tax rate since it covers most workers.

The ARRCO has two income brackets. The tax rate is constant within each
bracket and is zero if earnings are higher than the second bracket. The first bracket
has an earnings cap equal to average earnings, and the second bracket has an
earnings cap ranging between average earnings and three times average earnings.
Table D.4 reports the tax rate for each bracket and the total tax rate for public and
occupational pensions for average income and for three times the average income.
Because there are earnings caps, the tax rate, including both the public pension
and the mandatory occupational pension and taking into account the earnings
brackets, is decreasing with income. Hence, for earnings between one and three
times average earnings, the tax rate for employees is between 10.55 percent and
9.45 percent, and for earnings greater than three times earnings it is less than
9.45 percent. We use 9.45 percent as the value for 7; in the simulation. This is a
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conservative value since most of the population earns less than three times average

earnings. Similarly, we use a conservative value of 14 percent as the employer tax

rate Ty.
Table D.4: French Social Security Tax Rate, %
‘ Employee rate ‘ Employer rate

Public

< avg. earnings 6.75 9.9
ARRCO

< avg. earnings 3.8 5.7

1- 3*avg. earnings 8.9 13.3
Total

1*avg. earnings 6.75+3.8 = 10.55 9.9+5.7=15.6

3*avg. earnings [(6.75+3.8)*1+8.9*2)]/3=9.45 | [(9.9%+5.7%)*1+13.3*2)]/3=14

While the public-pension benefit is based on the best twenty-five years of earn-
ings, the occupational pension is based on average lifetime earnings. Since the
retirement age is 65, the length of working life is 65-24=41 in the model. We use
the average of 25 and 41 years as the number of best years that the pension income
is tied to.”

*The average is thirty-three years. The model period is two years. Hence we use thirty-two
years.
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E Additional Results

E.1 Life-Cycle Profiles for Decomposition

Figure E.1: Life-Cycle Profiles from Decomposition Using US Policies

(a) Consumption Tax
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Notes: This figure compares hours and expenditure by age in the French benchmark economy with those after adopting
US values. Expenditures are normalized by GDP per worker in the benchmark French economy. Panel (a) shows the
changes after applying the US consumption tax to the French economy. Panel (b) shows the changes after applying the
US social security system to the French economy. Panel (c) shows the changes after applying the US income tax to the

French economy.
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Figure E.2: Life-Cycle Profiles from Decomposition Using US Productivity
(a) Efficiency Units
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Notes: This figure compares hours and expenditure by age in the French benchmark economy with those after adopting
US values. Expenditures are normalized by GDP per worker in the benchmark French economy. Panel (a) shows the
changes after applying the US efficiency profile to the French economy. Panel (b) shows the changes after applying
the US home TFP to the French economy. Panel (c) shows the changes after applying the US home labor-augmenting

technology level to the French economy.
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E.2 Life-Cycle Profiles for Policy Experiments

Figure E.3: Life-Cycle Profiles from Policy Experiments Using US Policies

(a) Consumption Tax
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This figure compares hours and expenditure by age in the French benchmark economy with those after adopting
US values, holding constant government spending. Expenditures are normalized by GDP per worker in the benchmark
French economy. Panel (a) shows the changes after applying the US consumption tax to the French economy. Panel (b)
shows the changes after applying the US social security system to the French economy. Panel (c) shows the changes

after applying the US income tax to the French economy.
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